Oxidation-Reduction and Electrochemistry Exam Review

Assign each element in the following compounds its correct oxidation #.
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Assign Oxidation #’s to each element in the following equations. Identify the
element that is 0x1d1zed the element that is reduced, the oxidizing agent and the
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Fill in the blanks: Oxidation reduction reactions involve the movement of
_W 0N ¢$ from one atom to another. The substance that loses

electrons i1s —DJJM and the substance that AL\QL electrons 1s
reduced. When an atom loses electrons, it takes on a m‘f\ ¥& charge.
Some elements lose electrons more easily than others. __ A\ ¢AlL WA
metals tend to easily lose electrons and take on a +1 charge. Jewelry metals
are not very reactive because they do not tend to lose
Halogens are more easily than oxidized. That means that
they %Mﬂ_ electrons. An element’s oxidation number describes how
many eléctrons it has lost or gained. When an element is in its standard state,
its oxidation number is 2@ YO . During any redox reaction, one element
\0<.2$ electrons and another electrons Mlﬁ e half-
reactions can be linked together to fo %attery The
half reactions are connected by a , or solution of
ions that regulates _(,\\W(&Q, in the battery. The eléctrons in a voltaic cell
flow from the Q to the  LOXNNOAL. . The
' battery can be found by adding up the potential
e charge of the battery is measured in units of

values of each half cell.
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16. A student wants to design a battery with copper and zinc metals and metal

Solutons, 034 Oh, FNc0Av  xne O
a. Which of these two metals is most easily ox1dlzed‘7 @_ m‘\u

b. Which of these two metals is most easily reduced? ‘ AA \9“\ wi
orAity

c. Using your table of reduction potentials in your notes, write the oxidation
and reduction half reactions below along with their voltage potentials.
(Don’t forget to flip the oxidation half reaction. Also, use the copper
reaction that involved two electrons.) wp
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d. What is the total charge of the cell? \0\0\, %
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e. Draw a salt bridge and wire to complete the diagram below. Label the anode
and the cathode. Indicate the direction the electrons would flow in the wire

with arrows. a\: 0 X
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